1. ohgo) gge a7

o,
(i
Y
rlo

B}

@ AlFste] 25 7F He 5

© AEstA 16 o] == 5
© AlFsto] 1 o] i 5
@ AlFste] 0 o] Hi= 4
® AlEste] -97

P
rr
4

D 050401,@0,0 -3

@ +5,0+4,©+1,0,03
@@ +5,© +4, ® 1, @ 0, @ itk
@ Q@5 0 +4,© £1,@0,® ot
® O+5,0+4,© 1,0, @ gt

(A&t a7t H= ) = (@9 AED)

= (
AEsiA -9 7t == = flok




R S |
) <§—’] 7‘1]1:1%) = i—2

N |
@ (A AE2) =5
® (15 9] AlFL)= £ V1.5
@ (155 = AJF57F ot B2 155 o] AlFE)= + V155
® (66 & AFS7F oY ER 66 2] Al FETE) = + V66
webA 2S5 ARSSHA] S UERd 4 QlE A2 @0

D




3.

Vi21 - /(-6)? & Al4tstoet,

@ 1 @ 3 @5

@ 7

| 11-6=5




a 7} Aol

4.

30

@ 3 ® 5 @®)10 ®

D 2

2x3%xa
5

[T
b)

La=2x5=10




@ 1.3

(F4)=09+04=13







7.

2a + a — (—5b) = 3a + 5b
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a>0°E2 Va2 =a

a>0,b<0°B2 \/(a-b)2=a-b

L(E)=a+b+a-b=2a




9. 9 % A A, B fstol A+ BE Altstelet.

3<v10,2<2v2<3
A=-(3-+10)-(V10-3) =0

B=(3-2V2)+(2v2-2) =1
CA+B=04+1=1




